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Select the correct answer : :
(@ The number of electrons in

reaction when one far:
is passed through the

() 12x10%°
() 96500
(i) 6x10%
(iv) 8x10'°
[ um over )

volved in the
ctricity

R/



(2)

(b) The i ;
3 ; g}cre:ase in the molar conductivity
with dilution is due to

(i) de in i

) Créase in interionic forces

(@) inc i

T€ase in self-ionization of water
(i) hydrolysis of water

(tv) decr :
€ase in self-ionization of water

{c) F
or an elec 0 }.ytlc

0 9 05 mol 1—1 i i
Pecific  conductivity 18

0-01108
cm L
(in S cm?2 - The molar conductivity
cm mol-v]_) is

() 0-055
@ S5

(@) 220
(iv) 0-29

solution of

(d) The
Potent;
having pyy o °f hyd
DHIE N0 i 7 oeen electrod®

() 0505y
) ~00sg;

2. Answer

(c) Explai

o=
—

(3)

(e) For the reaction between CO,(g) and
graphite
CO,(g) +C (s = 2CO ()
AH = +170-0 kJ and AS =170 JK™'. The
reaction is spontaneous at
(i) 1200 K
(i) 900 K
(i) 500 K
(iv) 298 K

from the

questions
2x5=10

any five

following :
upon which

(@) Describe any two factors .
the transport number of an ion
depends.

(b) Distinguish 2 reversible cell from an
irreversible cell.

n how the cond

electrolyte dep

of the medium.
(d) For the clectrochemical cell
oAgt +Zn = Zn2* +2Ag

t 25 °C. Calculate the

E° cell is 1-56 V a .
equilibrium constant of the reaction.
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( 4)

(e) Prove that for a
Helmhol System, decrease i
r:onst.emttz tiree TR funcgol: ﬂz
represents ﬂ]mperature and volume
work obtain & maxjmum am {
able from the Systef;:nt 0

isothermally anq re
to 10 dm? a¢ 300

ldea_l gas expands
;erslbly from 5 dm
. Calculate AG and

(®) () Prove s

B
BT) "-““( S) |
P 1

2 /)

(i) State o

d
theor €xXplaj
em. n Nemst.vs heat !

-

9.
Answer any two of the following

(a)

(b)

&pl 683

(5)

(i) Calculate AG for the formation of

(i)

(i)

(i)

(i)

H,O0 () from the elements at 25 °C,

AH 7 (1y,0) =~ 286 kJ. Entropies of

H, (g), Oz (&) and H,O () are respec-
tively 1306 JK~! mol ™!, 2050 K
mol~! and 703 JKk~! mol™".

UNiT—II
questions :

umber? Derive

port 1
ionic conduc-

What is trans
en

the relation betweé
tance and transport number.
uctance of a

The equivalent cond

very dilute solution of NaNO3 at
18 °C is 2104 ohm ™ cm
ionic conductance of NO3 i
is 122414 ohm ™

7x2=14

1+3=4



(6)

()

(i) Sta i
) 4 i;ed:nd explain Kohlrausch’s law
pendent migration of ions.

1,
(i) Calculate the equivalent and molar

cond
i tliloc;tanc?s of aqueous BaSO4
at infinite dilution. Given,

"§BaiNog), <135-04x10* - v
3)2 x107" Q - m2 equiv

An_l_ =
11,50, =429-60%107 Q1 12 equiv™

AHNO, =421.9
. 4x1 -4 -1
0 Qln,2 f;':quiv‘1

DiSC'LISS
an
used in g Y tWo types of electrod®

al .
ta bl Vanic celjg,

the g;
electrode Condlfference betweer

Centration cell and

ce

b .
(b) Discugg Row

C
q?;_‘ Be meagy
lnhydrOne

It‘:::l P.H of a solutio?
with th, a
electrode. e 4

o
oW the e.m.f.

& hydrogen-oxyge?

(@)

is
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(1)

1

il 8psgara

(7

relation between fo
force and the

Derive a
electromotive
equilibrium cons
reaction.
Aluminium
electrolysed at 1000
aluminium metal.
reaction is

A13* +3e” — Al
unt of electricity
of aluminium by

may be
oC to furnish
The cathode

oxide

Calculate the ame
to produce 512 kg
this method-

( Turn Over )



